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3/2018 (5) LT
@ Number of long pairs ol electrons present J'EBF: “ﬂﬁ N .'Il
in XeF, molecule i N TS
{A) 5 (6 4 (A) 5
) 6 (D) 3 (C) 6 égi ;
Y et __has been accorded |.|'|'ﬂ honor 2. '_‘_‘—~—ﬁmm:lh
of the ‘Surya Kavi' of Haryanvi music genres & G R 1 e o, w‘:?"‘ﬁ W gin
Raagni and Saang A) e
(A) Surdas ﬁ{:BJ
(B) Kurmadas ¥ |Eli.|:
(C) Lakshmi Chand AG) mwi
(D) None of the above (D) 3w 4 8 wrf 3
1 1 1 1 1 1 qﬁ- ﬂq 'ﬁl&ﬂl‘
— e = 101 o s o o
3 lehevaluanlz+3 3 0 10 lerms. 3. 2 3 3 IR HIE 10 T8 79 9T R | ¥
5 =5 5 ® LT
A 5 (B) 2 (A) 3 Jﬂ- > A Jr*
1 1 [
_ D) Meone of these 0] — D) s awaA 5o
IC) o (D) c 50 o) .lzl-'
4. __ wasthelast king of Tomara dynasty 4, Ay @w & sifim v faeR
who handed over the throne of Delhi to his faeeht w1 flerea a3z gefiva e
son-in-law Prithvira] Chauhan. w1 whg fm
(A) Vijayapala {B) Mahipala (A) Forsrara (B) wtret
(C) Anangapala (D) Gopala _(C) SwmE (D) MraTer
5. The Article of Indian Constitution which 5. WRHTE ERTE = e W A TR
provides for equal cpportunities for all the  adt =il = e s R 7
people in public employment
(A} 16 ®) 17 w16 ) 17
c) 14 o) 15 (C) 14 D) 15

6. Who won the Runners-up title of FIFA
Football World Cup 2018 ¥

{A) Pussia
(B) France
(C) Croatia
(D) None of the above

7. 'Piliya’ will ba sung during occasion of
{A) Birth (B} Marriage
{C) Death (D) Holi

L 2

6. e Fzave fama ww 2018 w1 i s
wART

(A) *= n =

A8)_%id Air Ry A I

o

(0) e aw La2t40-]-
7. hRET % e e m s

AR) ¥R (8) fam

© T (©) el —E-{-ﬂ

Qn = m(m;a’

o * i-ﬂj{-f-) é
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g 1 P) = 2% =1 I8 diyig
all natural numberg "'.fhbv;: :"':‘- (k & N) for

a
Hr
18] D) Mona ol thase

g. “Shelkh chill ka maghars: i
(A} Agroha {:;] llSTrIL:Hm "
(C) Hisar (O} Thaneswar
40, Inwhichona ol the i Place santhguake
recording station is ney locatad 7
(A} Kolkatia (8) Kodaikenal
(C) Pune ©) Mumbai

11. Following is not a pan of human spanm

(A} Acrosoma (B) Mitochondria

D) Antrum
Haryana recently celebrated it

(G) Axial filament

foundation day,
(A) 42" (8) so°
(C) s3° (D) 55
13. A number consists of three digits whose
sum is 17. The middle one exceeds the
sum of the other two by 1. If the digits be
reversed, the numbaer is diminished by 396,
then the number is
(A} 494 (B) 583
(C) 681 (D) e82
14, s the smallest and the fastes!
mamary in computer.
(&) RAM (B) ROM
(C) Cache (D) Hard drive
15, is the first Indian wrestier 10
win two medals at the World Wrestling
Champlonships.
=1 -1 [(A) Vinay Phoga!
¢ (8) Sakshi Mallik
(C) Bajrang Punia
Y-t (D) Sushi Kumar
0 18, Find the missing terms
L b_b_bb_b_bbabb_
vy abaad
(A) aaabb :-g;
:_g - (C) ababb
YT
i =11
i T
Yoy T =Y
" 1’ ey ¥y
=Ly Ul = of

42018 (5)

[

]
'

L ix i
ﬁu'l - 1 e mﬂ"a ‘.5] l
1, k, (K& N) Iﬂ%i:ﬂ
LR I
(
(A) 5 fDy l’ﬁﬁﬁiqﬁ
© 7 A
o et & g
A arTE
o o O v e
g A @ farm v TR
1“’- t?
éfm @) FrtET
c) © 3
) g1 WA w1
. .?;E.Fﬂﬁﬂm 21| b
o) TR (8) mTErRTE
() ¥iwd (0) “la' .
v2. i 3w @ # S WA
foram AT | -
) azal @ soal priets
ic) sal (o) ssaf W
ya. T W A s @ wh @ e am 17 ‘-fg

v aren w2 & 9w A 1 v B afR

s3] 1 3 Terz R G A HEA 396 W Lb
1 el &, = o §
(A) 494 (B) 593 % >
#(C) 681 i) 892 |
14, F A R A o
il &) R 1”;'%1
(A)_RAM (B) ROM
&) ¥ ©) PTégma s
15, fiva ﬁ%ﬂw‘l‘f # 2 T oy
MG aEErET
) farrg s & 1
(8) wef sfers Lk
AC) wartn e
0) Heher gam ‘-Mﬁ
16, T2 7y wt) ==
b.b.bb b _bbabh
(A) amabh
IC) ababb (8) abaag
(o) hhﬂbh
abbabbbhsb
e
ha'pe® bhbhﬁ': o
Vo &
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17.  Orderol the differential aquation representing
the tamily ol parabolas v = dax is
Ay 2 (B} Mot defined
{cy 3 (0 1

18.  Index numbsar of the last elemaent of an array
with 9 alements is
(A) 9

C) 8

By 10
o) 0

18, India’s first Bullet train will run between
(A) Gandhinagar to Mumbai

(8) Ahmedabad to Mumbai

{C) Delhi to Mumbai

(D) Surat to Mumbai

Anil introduce Aohit as the “son of the only
brother of his father's wite”. How is Rohit
related to Anil 7
(A) Cousin
(C) Uncle

B) Son
(D) Brother
21, Which of the following decides the easterm
boundary of Haryana by separating it from
Uttar Pradesh ?

(A) Ganga

(B} Yamuna

(C) Ghaggar Hakra

(D) Chandigarh

This district of Haryana is having least
amount of forest in terms of area

(A) Rewari (B) Fatehabad
(C) Gurugram (0} Jind

Owerloaded lunctions are
Eg; 'I:jong :”mms which cannet run
ne function containi
function in it aining another
(C) Two or more functions wi
ith
name, type and arguments, | o
(D) Twoor more fy with same

netions name
but diffe
Sult rent number of Paramelers o

L

——

e

PTLLLLED
. Arrange the follow wit !
2 7. National 1nut|1:tg..,'fh "eir bage
Solar Energy 8 Gurugram

2. Paja Ramanna Cantra & |

————y

Y= w2

17, ARGy = dax i gftam w1 FaTe e
i w FA R

© 3 © 1

18, o weitaTe) T TSGR 3 i A I GAEE
v
(A) 9 (8 10
c) 8 o o

19, oz = # L
LIk il :@E
Ap) i @ g
(B) svewaram | qad.
(C) Feeeh w mug
(0) ¥ & gk

20. wfra dfka w1 sfeg ek fm & ogeh &
yaet i @ g3 % w9 | w8 dfm
shmd Tl ?
Ay v (B) T
(C) = (D) wr§

21, Fr=fefm 4 @ f9-= i ® wcen @
e w0 g, ) ol wi Prifa sk 7
(A) T
AB) =T
(C) W
(D) W=y

22. #a%a ) gfe | wfwrn = aed w9 aen #§
wreraTen faen &
(A) tardt (B) AR
(©) TEm (0) stz

23, afinnfea s R

(A) & FFE A T T W

(B) ' T for Zmn s g ¥

(C) waH 7, FER N 7= & wa a
iR

D) AR T A R ot o vaw f
e & Ty 2 1 s S
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g4, Arrange the following v

1. National Institute vl:ﬂ'I b base ;
Solar Energy 8 Gurugram
2. Raja Ramanna Cenyrg b
for advance technology Indore
3. National Dairy 4
Research Institytg ~ °* amal
4. National Bureay gf
Plant Genatic 9. New Deli
Resources
Select the correct apii J
(A) 1-a E—I:np ? EWT below :
@ 1-a 2-p 3_ 3¢
C) 1-a 2-d 3_y qhﬂ
(D) None of the above 1

A capacitor filled wiyk : )
of pormitivly "< 21 1sgdlSecte
charge acquired during a time interval
=3 minutes. Assumi erval

mingthacharge

through the dielectric material, lhn}?::;m
is {{;hatgsc decay takes place according 10
q= qc_&"f and hatf time T, =0.693 RC)

(A) 1.39 = 10" Om (B) 25 10" im
(C) 139 =10 0Om (D) 25x% 10 Om

- h‘-'f?r? HMmI:-_igllrEraballmn against

rangzeb, the Mughal Emperor, cccurmed

in Marnaul and surrounding localities in the

year 1672, which was led by Sadh paople.

{A) Sikh revolt (B) Sepoy mutiny

{C) Satnamirevolt (D) Neneof the above
is the world's oldest still-functional

1855 — built steam locomotive.

{A) Kalka Shimia train

(B) Fairy Queen

(C) Palace of wheels

(D) None of these _ "

The Jejaka bhukii was the "Sa'mu ' ;ﬂm

(A) Alanabad (O Lol

(C) Bundelkhand [ ) "1 & liquid

The forces acting on & S50

placed on a horizont®! E:u ansion

(A) Force due to sur®

(B) Force due 0

4€) Both (A)and

(D) Force due 10

3/2018 (8)

o0, Frcfirfres T 3 ST SEET wafer
i g
1. dh Fl dewR o TEH
2. T THOOT I b. TR
wAE R
3, g ol WEYH —c. FEE
HEd]

4, T urEy argEti o, T fe
A =
et firan e P g

1-8 Z2-¢c 3-p 4-d
E

1i-a 2=-b B3-¢c 4-d-
f-a 2-d 3-b 4-c¢

EGEEEGEL
frgfrer e = 2.1 # uw umogfes & UR
v @ s simE ¢ = 3R E
v afem 3 s 48 @ ¥ B) T8 W

ik st e qrogferer ward @ Free oo
fuﬁﬁuﬁﬁ!
(s Tl q = q e & IrgEn ol B i
ad @wa T, = 0.693 RC )
(A) 1.39x10"Om (B) 2.5x 10" (im
(€) 1.28x 107 Om (D) 2.5x 10" Om

_ ad 1g72t e ol sra-grm & A

A e ame aiiora & freg g fige
w1, o e wg @it g &)
Ai) forra gy 8) femft fazie

(C) wmamdt (D) ImAF T

Ty andt ot
- 7 wTe] 1855

.ﬁ)hﬂﬂn "
(C) Yetm W% =freq

(D) % @ wrf Tt
. imgﬁn w1
=) dug

P wr
uw Aftm v @ wh o
e b abal A
A g A & wmn am
(B) T i wrw W

(C) (a) s (B) Bt
(D) ¥R ¥ ww am

/
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30. Three married couples are to be seated In | 30, ot fveifie querd wh qm fuia wfer o
a row having six seats in a Clnema Hal 0 aitel o o eifim of haran By A eleed
Find the number of ways of their seating I W0 wtesnr e ol aft i) wfon off @) v ara
all the ladies sit together. *lﬂ-” b I

(A) 36 (B) 72 ~(A) a6 R/

©) 144 (D) None of these (C) 144 (0) i 1k A

31, oinel) warf ) s daive o atda S

31, The process of bringing a wild species LI
Piarmarn mﬂmﬂkﬁtni refermed toas ) ylan e B

(A} Acclimatization A ulfﬂ._.q.. ;
(B} Introduction AB) 31w 3
(C) Domestication (C) wite] w4rn
(D} None of these (D) st @ wif el

# apren T

2. vwnrf stger ik ad

32. The highway research board was set up In
the year ' = (A} 1973 AB) 195-3
(A} 1973 e 1 (o) 194
(C) 1963 (D) 1947 {C) 1963 i :
S 1k ik
33, CPU of smalles! single user compuler i 33w fﬂﬁﬂ*{;{:i{mﬁ L
(A} Micro-processor ::; 'ﬂ'rﬁq‘l!ﬂ_
(B} Mini-processor
(C) Mano-processor :g: ;ﬁ;’-ftﬁm
(D) Parsonal procassor
34. Recently P.M. Narendra Modi inaugurated | 34, TE ¥ Stz Gt 3 aem § vE F wEE T
India’s longest bridge in Assam, it's named o fir | ST TR
— gﬂm m ™ |
(&) Mohammad Rafi A it
(B! Manna Dey B) TR
(C) Kishore Kumar () ﬁﬁ‘m
(D) Bhupen Hazarika (D) *]fFI warfra
35. Choose the pair of words that shows | a5 re2i =1 ﬂ?ﬁm 3t 7w 3.
the same relationship as given pair ; ) q E‘E a ?Tﬁm.. e
Scalp ¢ Hair, W = ;A
(A) Homa : Cattle (A) = :qﬂ.
(B) Nail : Nailpolish (B) e : Feaitern
(C) Grass : Earth {C) o : und
(D) Fur:Cap (0) W : 2
1 1
3B A= r, ' . i
Gk Mt w (3) aRA=—" A, t_
P \'IE - '.'IE Al
(A) 430 B) 22
© :n: None of thes () 4J30 (8) 22
L e € 1 (D) %8 @ #1d 78
B
145 ]'L ¢ X 1
Q df r :—:—.—r_\z‘ A A=
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a/20 |
ar. erltlgn m of the ol Y |
(A) Goat. Kides I8 not Comectly | a7 frferfam i@ v had w :
IB] Hﬁr‘sg . Fuﬂlll : (A) ﬂﬂ-!ﬂfﬁ w1 Tl ﬁ‘Tr
{g! Sheep - | gmpd (@) WE-ug =
(©) Buttalo . Fnrrg:-.n ic) ﬂ‘ﬂ-m A
38. Famous fory o M N (o) *F'ﬁ.mfm
imed by "hendragay, wites g R AR 1861 H
Eg; fh:ahara:a_ﬁ;,ﬂ'm :33_1_ Wa| % 31 T mwilﬁl
aharaja Mg ngh (A) FERT AR
(C) Maharaja Ranji, é? S (B) WM HEAET (e
(D) MNone of the ghgy, "o (c) wwrn dfia fire
2%. Cona . D) v @ wrf 7l
‘ valr:;i?;irim1waw of authorg by e ¥ fi v & it vy e
1zation ang out Indus | 39. Ak ki Eﬁﬂ“’
the fﬂl!umng, I8 nat wf:‘mﬂﬂmm ol W aftt ﬂ}uli'{!l: frefarfia & @ w=-w w9
(A Gorden Childe ~ 11y pe @ ? fer et & 7
Incs vt of the (A) i amgEs - flywid & Em
(B) A.D. Banari h&r“ﬂ'iﬂnrace qﬁﬁ'ﬂ?mrﬁ'r
P Hanenee - The pegpie of c ]
Indus valley were
©) Or.G Dravidians (8) &, wwll ~ fingwrd ik i
r. Llhﬂ. = Tha Indus people :ﬁg ﬂ
m':ﬂﬂadmmu:m (c) . mm - i wim fifi
(0) John Marshal - The Indus peopie s &
belonged to (D) wwmm  — fiy wm e
Mangolian race g;#ﬂ *
40. One of the new age transport systems | 40, =u n #1 ofaes ynfeat & &
called Pod Taxi is proposad in India, it's a Sl w) e & e TF, 15
(A) Cab pooling system by using drones B e T R, T
(B) It's a Personal Rapid Transit (A) B iy w5 e fém
- et
system (PRT) _ (B) T¥ wF dniis iy 1997}3'!
(C) Driverless maglev train (C) i vt terma)
(D) Helicopter service for essential senvioes (O) s aml ¥y ferre
41, the analogue. . 4. T
" TOESDAY .'?..IUFEE-“E;}: %ﬁﬂg ! TSGR WFSCAX : : SQUAREE 210y
(A) TQVASED TQVARED c ASED  (8) Tauasep ‘
©) Tavageo @ el w \€) Tavageo (D) Tavamep
42 Thevalue of cost®c0s 2 8%~ 0817008 2% cos 3°..c08 170 w1
" ® ! " 5 ®) 1
1'5 {D] -1 m o tn? -1
'.C! 0 a7 i
AL L
i ﬁ
5 ~
R T -~ |
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43, Amrita Pritam was honoured by Bharatiya e diem w1 I e Ffa ¥
Jnanpith award for her literary work i & ferg syt RS GO A ““W
(A) Rasidi Ticket i . d
(8) Pinjar & ,‘Fﬂ? R
(C) Sunehade C) g 4
(D) Kagaz Te Kanvas (D) =rrm & &=aTE i
44. Which one of the following is not a feature | - a4, Frffm i & #7-w1 06 TH W Aty
of Marxist parspective m‘as;am ? gfewm o o fimm TR 7 3
(A) State is an instrument of exploitat®o (A) T T m‘lﬁ!{ﬂi Ty &
(B) State is temporary (B) T srearfi
(C) Classes never abolished JC) i wft aff #rt
(D) State is Universal (D) =
! Gobind Singhand | 45. ﬂﬂnﬁm,gﬁrﬁﬁaﬁ'ﬁaﬂtﬂﬁﬂﬁﬁw
i ﬁ:;:hr:néahr:r:?:irfk:;; wur:s of lamous s ehaeiwfy @ ] _
Haryanvi poet (A) I W W
(A) Uday Bhanu Hans (B) @fm“ it
(B) Khushiram Sharma l‘.c] ey wHTE TrafeE
C) Ayodhya Prasad Goyaliya c
ED; Tzrs-rﬂ!:n Sharma Dinesh (©) W i fa
46. Select the word which is least like other | 46, =% Wz gy &t wqe § = =21 & wdw
words in the group, fimd
{A) Lake (B) River (A) = (8) qﬂ
{C) Wind (D) Current (C) &= (D) MO
47. Converse of the statement i x:y=3:2| 47, Wm?ﬁﬂ:'ﬂﬁx:y-ﬂ:ﬂ%ﬁ
then 2x = 3y’ Is 2x =3y
(A) WWx:ye3:2then 2x =3y A) Tex:yed: 28 ‘3
(B) F2x=3ythenx:y=3:2 .4{5; Haﬂll:;f'ﬂl\'x'::;?; %5%:
ri;:J SEI#?}:M”N'—F‘S:E (C) aﬁﬂ'!:SyEﬁH.‘y:ﬂ:.—E
) None of these ' (D) yE B a;;ﬂt
48. Which Saction deals with dowry death 7 I iy 5 'i
(A) 498-A of IPC - a’hﬂ%ﬂjwwﬁmt. frvd
(B) 489-A of IPC B o % v
(C) 304-Bof IPC (B) IPC #1304-B ¥ %
(D) 304-A of IPC (C) ot 2L
(D) IPC#1304 % t
49. Set of parallel printed lines with different 49. Fren @ aiE faw & fafirs w7 & w14 ﬁﬂ' |
(C) Color coda
(D) Bar code (C) TR T (0) T

thickness of black and white characters jg ’ m}msﬁ wah

(A) White code (B) Magnetic code EE, e FIE (B) R i

LEoE
-B-
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X N
and gig, 2N a
y,  Mwory
Eg% anjhi 4% from U
B1, An angol| (8)
Ny or Mo
s 2.0rgan ©) Al thy o
{a l;ull aaam with b L“;' "
m ﬂﬂ&plmq. Uonomus
82 . OPloid ®) Polypiog
- 33315 butw“ th © Haploig
ch :|,:.. and the ho rihl'h|nu1l hang o
(A) 1‘123;,m. ™ ANd when the ﬁm:
9 £
mglu the series —— 5
ooy ’W'D‘ wing the Haquwmh rr Lo
Rt Will oM in the ne ! Al
12 1330 gg gy o7
;:} 1 ;;‘2 W gy
(C) 180 :gi ;';5
54. In CPU,

instruction 1o be S BXBou w’“! o the next

(A) Instruction register

(B) Program counter

(C) Memory buffer register

(D) Accumulator

Who is the current direclor of Haryana
Punjabi Sahitya Academy 7

(A) Gurvinder Singh

(B) Rakesh Sinha

(C) Narinder Singh Virk

(D) Ashwani Kumar
in the seres :LiL:ltar
followed. Dete -
MKTUBILEUCHMHWF?NE\TEFU
(A) YZ B ez

{GJ - i aven pliITIB
The probability of getting an =
when a die is rolled '

(B

55.

a definite rule is
letters.

)
©)

o= -

(c

@| = &M

-

B0,

B1.

57,

2/2018 (8)
3.4
s s fuf @ wh o )
7 # B ark!
- o
f:t et o) '
Ay @ i, wen 4 -
Ll )
" iB) .ﬂ-{-r‘i
E; rmmll' ® o
10 10 A U, wih & ferz 81 52 ?{f
! wdmwmat? .
() s’ o) 9%
fem ﬂr oI, ; 7% T "f'r’"l"f-'r""a"'j—
At ﬂ"-f’* #) AL v
LK - e
127 13 30 99 4lg Qﬂ“
'lij' fi) fii) r:“lil f-'."_,a
(A) 135 e 1s _
(C) 180 0 72 .
7 1’!“ Wwa‘;—mﬂ’j
h’“”m-’qqnp o
(A fﬂ*wrr.-ff_ .%
© !jm“m '&fc
O — SO
(D) AR 2

(A) e e
(B) Em famm
(C) fre fim o
(D) st gmw

Wm*mﬂmﬁﬁzm?

'ﬂﬁ?mt! ﬁ
AJKTUBILEVCHMAWRGNGX _‘hg
(A) ¥Z L&%n PY E
C) za D) PZ
O T ) S T U 31T HE S g
& witrem
n 2 !
(&) 'i ®
© 3 o 4
6

L

O
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58. Recently, Chief Minister of Haryana has

approved signing of agreement for
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58. Recently, Chief Minister of Haryana has | gg, rer # if, wfram ¥ el ?&'iﬁ"%
approved signing of agreement for oy a5 5 ﬂT:f ke
would add new storage capacities on two 74 6 % e T o
tributaries of river Yamuna. wrgm|
(A) Indira Gandhi dam (A) TP nf:;fuﬂ“
(B) Bakhra dam (B) WTTEl v
(C) Kishau and Renuka dam Egl; lid zﬂr::!"
(D) Anangpur dam ST |
i so. 2011 SR H IR TE T TR
58. The states which have highest Density of e e At @
Population according 1o 2011 census are (A) A a3 w2
(A} Kerala and Uttar Pradesh (B) firem 3t ofyam e
(B) Bihar and West Bengal fargm s faeel
(C) Bihar and Delhi it (D) TEr S o g
(D) Bihar and Uttar Prade RS gf—’lﬂ,l
60. Select the significance of migiosis. i o0 ;’Milfw e St 3& 7 wEam
{A) It helps in growth of multicellula s
s anle - i ) o 1w w4 8
I cell repair By IE 3 ; ;
Eg; :: mmﬁr‘;ams the same number °: (C) T® AIPHITTE & oregat 61 e wafa
chromosomes in daughter cells as 0 wFifim | i T &
pﬂfﬂ‘l‘ﬁ.ﬂ-ﬂ” i m} “m mi
(D) It creates vaniaton
1. is a structure built in Chandigarh |  61. ar— mﬂ}%ﬂ* i hliii L
by legendary architect, Le Corbusier. g | & H=
(&) Close hand monument (A) WE TE FHAE
(8) Open hand monument (B) Liahalisd
{C) Right hand monument (C) il T S
(D) Left hand monument !DJ" LA RLLCS _
62. Belore Independence, The high court of | 62. mﬁ%ﬂ:mmmﬁmm
Haryana and Punjab was situated at NIRRT 1|
(A) Amritsar (B) Rawalpindi (A) HGTEY (B) TEAfTE
(C) Peshawar (D) Lahore (C) W (D) =mR
63, Who was the first speakerof the Lok Sabha ? |  63.  SiiaF 1 SuW i 1 o 7
(A) Neelam Sanjiva Reddy (a) e wafra
(B) M. A. Ayyangar (B) TH.T, {¥A
(C) Ganesh Vasudev Mavalankar e o AR ArEE
64. Geographically Haryana contains 64. sirifers w9 8 e | e
legislative assembly conslituencies. i il
(A) 14 (B) 10 (A) 14 B) 10
(C) 70 (D) 80 () 70 (D) 90
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65, It is .,;!‘, !
B b7k 3/2018 (5)
J“'] Al ilw Melrig than i
) Ao “"""ﬁrmrnm W iiee ? (A) A e & N
D) Nong of the b, 8 Afﬁ;mnﬁlﬂ
. 8 v c) A=
66. 2 S Callog g Ky EDJ a w78
(A) Relatigng ———— %Perator 0. 28 wiatz v &
(C) Cag (®) Condg : (B) wEEA
sling ditiona| (a) fretTeE
67. Bangladestyg g 00 ©) wifen 0 Wik
s
(&) Bankim Q:;W1 lﬂ"Mll'm""i!-'-'||'1"r|.'1|3.|-,.t,.l,. &7 apEEn | gTE & Feven man
(B) FT!II.'-in:::h'.|1|'m11“::":’.;EI ch‘“hpamm ' {A) afirn 42 W
(C) Hassan Mummﬂﬂﬂm B} : in
(D) Muham (C) wa At
o - mad Iqbal (D) ?m -‘.fm:.._.
. ich of P .
10 the ‘Sapea SO%iNg does not beiong | s, e it ¥a-a ek i afefir
mentioned in ngm{x% O Seven rivers féng:  wv Afea 8 7 v 7 prath
(A} Ravi ' mh (@8) —
(B) Che (A) : Pt
(C) Markanda () et () ww @ wm GY
69, Breeding Centre situated inMomi Panchiusa | 69 g, derpen | fEm yaem #2, oF T wE
g:z:;;":l:n? Purpose-built centre for the  wmmEEEEh
(A) Blue pealowls (B) Chinkara Ay Al A i8) farmm
(C) Pheasants (D) Indian vulture (c) im (D) e firg
70. The Federal system with strong Central | 70. Thaweft %2 mrem & mw ofra woi
Government has been borrowed from — e
(A) France (B) England (A) FTH (8) v
(C) Canada (0) USA () = .(0) qwm
71. Hybrid computers are used to 7. wefire P W wm il ]
(A) Convert the analog signals to digital (A) 3@ #73 ¥ forg vArEtn wka w5
bl wrafta w0
(B) Control air traflic nnd radar (B) uam Mww mmm % Frifirn w3 7
(C) Work on binary digits (C)_faamuntyz si#l o1 wrd %03 iy
(©) Nono ol the above © i3 A
72. India won ICC under 19 World Cup 2018, | - 72. m‘ﬂ:ﬁ*ﬂf 19 e %9 201 ofm
" the final match took BOOWECE =" irica ) iﬁ':m — il
England () Sou (A) (B) =& sifea
(A) ENg and  (0) Australia (C) etz (D) tefam
(C) New Zea o the same way | 73 TE TET & 3 wew wafim b &3 =y
73, What is related to Taka 7, vl @
as ‘Lira’ is related 10 " (A) @t B) whw
(B) Jamaka h
(A) Jordan D) Mexico (€) e () HfeeEr
(C) Bangladesh | A1 L
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7 :
3/2018 (5) T ah_L;m &_:,.1- o
T4 Wx=3 y=o z=2Tand =y 2#=1| 74, Tl ba- g» fmw :
w - i = " = a = i - &
then abc = 4 ﬂ,::,'?r-'zfg? -
(A) 11 (| 27 CYR (B) 27
© (©) o () ;—T o) 0
75. Initiation of milk secretion is called 75 FuEEVE HEy e
(A) Lactogenesis (a) drraafam AR v
(B) Galactogenesis B) hemrE L ':t‘T .
(C) Galactopiosis (©) hermrfrafia gt 3
(D) None of these (D) ¥ & wrf 7l '

76. According to Vayu Purana, which of the | zg # AN, frefafir ¥ & ¥
following place is believed as the birth place &%wmmmt?
of Lord Hanuman ? (8) femm
(A) Karnal (B} Hisar (A) T
(C) Kurukshetra (D) Kaithal (C) Fwaa (o) %@

77. Consider the following about Rousseau's | 77, ¥t ) W=y =0 # ant ¥ Frefofim
General will and choose the correct forem 1 ot W WA 14 | -
statements. . i, T e s e A SR

i Eisli:&m will is the expression of inner . - t |
ii. General will is infalliable. jii. e s safe ) wEEE = R
jii. Itis the best will of the individual. v AT v sriafE R 3
iv. Genaral will is impersonal. . p )
:;.r] i, Hii and iv (B) iand il only A i 3fttiv (8) et i i
(C) fHandiv () all the above () i dfiv (D) 3% ol
18. deals wit:: lhhe synlnellais a: 78, pR-t o e
pyrrole derivatives by the reaction o anfi7 ) uftafa 4 o &
-keto-esters with a- chloroketones in the h
l|i|'|asr|ar'n::rﬂ of nmrm:ta or primary amine, st & tn'{flﬁ Eﬂ”ﬁ =1 wer B)
(A) Paal-Knorr synthesis (A) 911~ Heerm
(B) Knorr pyrrole synthesis (B) N ATErE FHyeram
(C) Hantzschpyrrole synthesis (€) Frmmem weey
(D) Madelung synthesis (D) e Eve
79. Iflgzﬂthon 79. ﬂﬁl—ﬂ:'z 20,®
(A) x22 ) x22 .
B) x>2 (B) x»2
C) —2zx=2 dCY —2<xsgo "4 20 .
(D) xz 20rxs-2 (D) xz2WMx<-2 s e

80. The criteria of essentiality of nutrient | 80, e et o STTarwraran 1 e -
elemants wera given by g ™| - —
(A) Nicholas (A) Frerem
(B) Amon (B) ¥iHA-

(C) Parker (C) W - vt
(D) Amon and Stout O) FMemz
L 12- .
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B1.

1'?

&r.

P-I"II] qu‘u came o e
(A) 6 Octobar 1880
Eg; 1 é!:lv 1882
1 September 1
(D) None of the rab:;:

First Super-computer of India is

(A) CRAY3 B) HIT

AC 8.300
(C) PARAM (D) ARYABHATA
Most sites of the Mature

Civilisation Harappan
actually found iong e Lo Saton are
(A) Ganga river

(B) Yamuna river

(C) Ghaggar Hakra river b ff
(D) Bias river ""‘J &"-’P,.,{"F

In CE configuration, if the voltage drop
across 5 k) resistor connected in the
collector circuit is 5 V. Find the value of I,

when [} = 50.
(A) 0.01 mA ’J,B} 0.25 ma,
(C) 0.08mA D) 0.02mA

is the most widely spoken dialect of
Haryanvi,

(A) Bagri
(C) Ahirvati

(8) Bangaru
(D) Khariboli

In an examination there are 3 multiple
choice questions and each question has 4
cholces, Number of ways in which a student
can fail to get all answer correct is

(A} 11 (B) 12
(C) 27 (D) &3
Modern computer keyboard genarally
containg keys.
(A) 104 {B) 53
C) 28 (D) Al of the above

Highest magnetite ore available in India is
%) Orissa

(B) Chhattisgarh

1C) Kamataka

©) None of the above

3/2018 (5)

3/2018 (8)
PO LR £ p— R
(A) 63T 1860 .
y 1 1882 |
1 firart 1873
"ig: v & i
awen gy wge ¥
8 Eﬂzlmvawmqi[a} HITAC §-300
©) T Jp) s
ofrgr wgoard weren wen oy ol @
8 & fmme % () w@ ¥
wra-wma g
" (A) ﬂm'«'fﬁ
B
t"'f.s‘ f:c; ﬂmw
(0) =ma Tt
s, CE famuma &, aft 5 kq wfeOuw  aeew
firrarz 5 v & = ik wames afooy Ay d, A
B = 50 B T |, %1 7 I7 %t |
(A) 001 mA (B) 0.25mA
(C} 0.03mA (D) 0.02 mA
85, wiramorh 1 waifies deh s
(A) ®) W
() i D) e
86. o it % i wEfirs Ry v B & alk
el T 3w P R B, P e 1 e
wr andl e e e 0w
(A) 1 (B 12
cy 27 (D) 63
87.  3myfe s fard A
3fw 2 8 —
104 (B) 53
(C) 28 (D) % ot
88. WA § Feraw feergz srwER i
Inerey B
(A) 3
% mﬁh s
(0) 3 @ w7 ® =
- 11"'.!-1 . T - i -
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W) Kamataka (C) =T® re=—
() None of the above I (D) Tﬁﬁﬁf?ﬂ ® >
- o = T - v
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English Language

Mﬂmuﬂﬂuwmrmwm ;
89. (A) Who do you think she is 7 AN Pt e

{B) Each of the scholars hasdnfﬂ*‘*::w
{C) Neither ol them was invited 10

party .
0) | was the man whom they thoug"" (0} ¥ fagi wr s
was dead o
- 9. T fme
90. (A) |am astall as sheis )
(B) 1 swim better than him (a) o b ® 7=
(€ 7= (D) ™=

4C) He gave me an advice _
WD) Between you and me affairs 0% dark

Select the correct option for the underlinéd word in :
the following sentences : {A) ¥ & fom Ame

91. nwmeamgmﬂymmgmmm-l (8) = vit ot 3 #
(A) distributive pronoun (C}) WM IH
(B) indefinite pronoun R
(C) demonstrative pronou (0)
(D) reciprocal pronoun - )
g8 T mEL?
a2, of hig friends have came forward 10 ‘
help him. (a) T
{A) Indefinite pronoun @ mﬂ
(B) |nterrogative pronoun® —
(C) Distributive pronoun (<) i
(D) Demonstrative pronoun (D) FETW
Sahmmnpowidmmﬂfrmmalolbvdng: 0. - f freaz b
3. (A) Itoid him that he would be promoted (A) WEF + TR (B) T+ T
{B) When the siren gounded, all traffic oft + 3@
came fo a stop (C) Wig® + T ©
(C) Heis a scientist and a philosopher too . , it
(D) Smoking is bad for health 100. mnﬂmi Wmﬂﬂm
|
94. (A) You can go by bus or by train (A) T TA T ot
(B) |shall doas | like 8 mandat
{C) T;anwawanlihamwamundthalha © mﬂﬂmmtl
had gone . |
(D) The annual sports will be held tomormow D) m 34 @A

e e —————
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